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Algebra I - Unit 6: Topic 2 — Systems of Inequalities
Practice — Systems of Inequalities Day 2 pp 421-426
Name Date Period

Write a system of inequalities for the graphs below.

1. ) 2.

Inequalities
3. For which paint is y>—% and X{—%?‘ i=h Bg .
: A
A. Paint A S N S
B. PointB e
C. PointC LI o i o
D. PointD i ! :
=t . . .D'

4. Jessica is buying hats for everyone invited to her birthday. The Party Store is selling party hats for $2 each and

crowns for $5 each. Jessica expects no more than 20 people. | T T l
I T :
A) Write and solve (by graphing) the system of inequalities to find— 1T B g
out how many party hats, x, and crowns, y, Jessica can buy |- f | =48 | N
if she does not want to spend more than $60. T T

B) Is the ordered pair (-5, 10) a solution to this situation?

€) Is the ordered pair (2.5, 8.5) a solution to this situation?

D) If Jessica decides to buy 9 party hats, what is the maximum
number of crowns she can buy?

E) If Jessica decides to buy 6 crowns, what is the minimum and
maximum number of party hats she can buy?
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Algebra I - Unit 6: Topic 2 — Systems of Inequalities

e — — —— e ——— e

5. Which graph represents the solution to the ineguality 2x — y = -3?

’ 4 A
B I C. 5 D NEEEN
T HHEH , '
b Which inequality Is shown in the graph? ‘ar In the graph of y < x, which quadrant is
completely shaded? Use the graph below
to determine.
Y‘“
A. Quadrant I
B. Quadrant II
C. Quadrant III

X D, Quadrant IV

3 . Which graph represents the following system of inequalities? y<=2v+1
2x -5y =10

A,

s
0 B o ©

- __'-‘h‘. = 5 Ot

© Gina Wilson (“All Things Algebra”), 2013
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For each of the following: define the variables, write the system of equations and then solve using the ‘best’ method.

1. Coach P. made 4 shots in basketball practice this morning, no frei ination of 3-pointers and  2-pointers
totaled 11 Eoints. How many baskets were 3-pointers?

aness —oaX T =4) -y~ ’fﬁ
g#ﬁ&mumwnm ZXVEF-\\ 3X Y

SHNIOSTON 4 (3 Fviver. poovers

2. The drama department sold 300 tickets for their last show. Aduft tickets cost $10 and student tickets cost $5. If they sold
. . ——) . .
$2750 worth of tickets, what is a reasonable conclusion that can be made about the tic|
B

NN~ —
A Only adults bought tickets MW}: m
ore adults than students bought tickets \D x ﬁ —) a?-go
C More students than adults bought tickets - —_— _—
SX =—{ 500

X The same number of adults and students bought tickets 7 ~J
—_—
Is19) + 150 (%) SX=]2£0
\S6O 4 =250 X -_—.g % a'
3. Ata restaurant the cost for a breakfast taco and a small glass of milk is $2.10. The cost for 2 tacos and 3 small glasses of

milk is $5.15. Find the cost of one taco and one glass of milk.

t+wm =210 = 81\5
at+tdm=5.15 = Jo.a5

x‘ The members of a new band want to spend no more than $70 for at least 60 fliers to advertise their upcoming concert. The

cosk to produce a color flier is $1.50 per flier. The cost to produce a black and white flier is $0.75 per flier. If the members of the
band want to get the maximum number of fliers made for $70 using both color and black and white fliers, which of the following is
a reasonable solution?

A The band can order 26 color fliers and 30 black and white fliers.
B The band can order 30 color fliers and 40 black and white fliers.
C The band can order 30 color fliers and 32 black and white fliers.

D The band can order 60 color fliers.

}i Cody likes to snack on pecans and almonds. Pecans sell for $3 a pound and almonds sell for $4 a pound. Cody wants to buy
a ure of nuts that weighs no more than 5 pounds, and he plans to spend at most $18.00. Find three possible solutions to this
situation.

9 o> SO

6. Two complementary angles have measures of s and £ If 199 less than twice s, which system of linear equations

can be used to determine the measure of each angle? D
t+5=-9 E .\. -b -_—_.q
X t=25+190
» =1Cc~— q
X t-5=--9 5 t+s=90 'b a

t=25-90 t=-25-9
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Marisela owns a clothing store that sells hats and shirts. All of the hats cost the same, x dollars, and all of
hirts cost the same, y dollars. The following customers came into the store and made purchases:

Frank bought two shirts and a hat for a total of $17.00.
Allison bought four shirts and three hats for a total cost of $37.00.

Judy bought six shirts and three hats for a total cost of $51.00.

A Write three equations that represent these situations.

B. Do Frank and Allison’s purchases provide enough information to determine the price for each shirt and
each hat? If so, find these prices and show your work. If not, explain why not.

C. Explain why you can't use Frank and Judy’s purchases to determine the price for each shirt and hat.

9. An isosceles triangle has legs that are each xinches long and a base that is yinches long. The perimeter of this
triangle is 38 inches. The base is 8 inches shorter than the length of a leg. Which system of linear equations can
be used to find the length of each of the 3 sides?

2x+ )y =38 2x+2y =38
y=x-8 X X=y-8 Leg Leg

X »
X'\"X
YO XL =38

Hunter has a jar of 368 nickels and dimes. The total value of the coins is $28.40. How many nickels and dimes does Hunter have?

Base

move DP

10.  Juan bought a total of 52 cans of Dr. Pepper and Sprite. There were three times as many cans of Dr. Pepper as Sprite, How many
cans of Dr. Pepper did he buy?

Let X be Dr. Rp =9
L& y b2 SpiR X =Y

cANS 3 = O
QJFD\' e 7 \J:%J G-

| DS
Spnke
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Test tomorrow over ALL of unit 6.

- If you do better on tomorrow's test, |
Wil match the score for unit 6 test |

ALL HW (late or otherwise) due tmr by
:10.

Review is bonus points on test.
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